=LPDB

3UDFRZQLN 5RINaDG GU KDE 5\FKWHU 3LRW SURI 8- 7\J

(o4
™
7N\
7RNVANRIRJILD GU KDE
S\FKIHU 3IRIU SURI 8-+
=DICFLD RQ 0lQH % O
=z
I
)
% 7\G]
N 7RNVANRIR
JID GUKDE
S\FKIHU
3R SURI
8-" =DICF
ID RQ 0lQH
%O
5 7\G]
Rl 3UDFRZQLD PDJILVIHUWND GU KDE S\FKIHU 3IRIU SURI 8-" $%
&0 /
7\J
3RGVIDZ\ IRNVANRIRILL G
UKDE S\FKIHU 3LRIU SURI
8-~ =DICFLD RQ ILQH
6%/ &. =
% 7\J
=
8 \ 3UDFRZQLD PDJIIVIHUWND GU KDE S\FKIHU 3RIU SUIRI 8- 7\J
N 7\G] $% -
— 3RGVIDZ\
L HRNVANRIRJIL
L GUKDE
S\FKIHU
3LRIU SURI
8-~ =DICF
(D RQ (IQH
6%/
&. =
=
™
g 7\G] 7\G]
5 3UDFRZQLD PDJIVIHUWND GU KDE 3UDFRZQLD PDJIIVIHUWND GU KDE
hd S\FKIHU 3LRIU SIRI 8- $ - S\FKIHU 3LRIU SIRI 8- $ -
> 6 / 6 /
7\G]
— 3UDFRZQLD PDJLVIHUWND GU KDE

S\FKIHU 3[RV SIRI 8- $
6 /




